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Multiplying Tens

34 x 80 =12 x 20 =

42 x 70 =23 x 30 =

29 x 60 =45 x 20 =

51 x 90 =67 x 50 =

16 x 60 =55 x 50 =

23 x 40 =18 x 30 =

89 x 40 =25 x 70 =

22 x 50 =58 x 60 =

31 x 30 =97 x 40 =

65 x 20 =34 x 30 =

Multiply 2 digit numbers by whole tens and find their products.
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Answers

34 x 80 = 2,72012 x 20 = 240

42 x 70 = 2,94023 x 30 = 690

29 x 60 = 1,74045 x 20 = 900

51 x 90 = 4,59067 x 50 = 3,350

16 x 60 = 96055 x 50 = 2,750

23 x 40 = 92018 x 30 = 540

89 x 40 = 3,56025 x 70 = 1,750

22 x 50 = 1,10058 x 60 = 3,480

31 x 30 = 93097 x 40 = 3,880

65 x 20 = 1,30034 x 30 = 1,020

Multiply 2 digit numbers by whole tens and find their products.


